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Identify the class interval table for the given histogram.
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Class-Interval s————p
Class-Interval | 117 - 119|119 - 121|121 - 123|123 -125|125-127|127 -129|129-131
Frequency 115 103 88 144 100 71 138
Class-Interval (117 - 119|119 - 121|121 - 123|123 -125|125-127|127 - 129|129 -131
Frequency 115 138 88 140 100 71 103
Class-Interval | 117 - 119|119 - 121|121 -123|123-125|125-127|127 -129|129-131
Frequency 115 103 88 140 100 71 138
Class-Interval |117 - 119|119 -121|121-123|123-125|125-127|127-129|129-131
Frequency 115 103 83 140 100 71 138
Class-Interval |117 - 119|119 - 121|121 - 123|123 -125|125-127|127-129|129-131
Frequency 115 88 103 140 100 71 138




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.
Y

No, of Patients
o
]

F300H033 436013942 4548 51

Age (in years) s——an

Age (in years) |30-33|33-36|36-39(39-42/42-45|45-48|48-51

i
(0 No. of Patients 45 47 14 39 37 30 50

Age (in years) [30-33(33-36(36-39(39-42(42-45|45-48(48-51
No. of Patients 45 14 42 39 37 30 50

(if)

Age (in years) |30-33(33-36(36-39/39-42(42-45(45-48|48-51
No. of Patients 45 50 47 39 37 30 14

(iii)

Age (in years) (30-33(33-36|36-39|39-42|42-45|45-48|48-51
No. of Patients 45 14 47 39 37 30 50

(iv)

Age (in years) [30-33|33-36|36-39|39-42(42-45|45-48|48-51
No. of Patients 45 14 47 34 37 30 50

(v)




3. ldentify the class interval table for the given histogram.
HY e e P

Mo, of students

Weight (in kg) s———p

D1 DS DO 33T R A 4 5

Weight (in kg) (21 -25|25-29|29-33|33-37|37-41|41-45
No. of students| 28 29 14 29 20 26

(i)

Weight (in kg) [21-25|25-29(|29-33|33-37(37-41|41-45
No. of students 28 29 16 29 20 26

(if)

Weight (in kg) [21-25(25-29|29-33|33-37|37-41|41-45

() No. of students | 28 26 14 29 20 29

Weight (in kg) [21-25|25-29|29-33|33-37|37-41|41-45

iv
(iv) No. of students| 28 29 14 31 20 26

Weight (in kg) (21 -25(25-29|29-33|33-37|37-41|41-45

(v)

No. of students 28 14 29 29 20 26




4.

Identify the class interval table for the given histogram.
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Class-Interval  e———ap
Class-Interval (69 - 72|73 -76|77-80|81-84|85-88|89-92
Frequency 108 82 26 29 37 22
Class-Interval (69 -72|73-76|77-80|81-84|85-88|89-92
Frequency 108 22 22 29 37 82
Class-Interval |69 - 72|73 -76|77-80|81-84|85-88|89-92
Frequency 108 26 22 29 37 82
Class-Interval |69 -72|73-76|77-80|81-84|85-88|89-92
Frequency 108 22 26 29 37 82
Class-Interval |69 -72|73-76|77-80|81-84|85-88|89-92
Frequency 108 22 26 24 37 82




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.
¥

No, of Patients
o
]

'24|.5__ _29|.5_ 3-7.5'__ _351.5____.44|.5_ .45|;.5__ 57.5_____5s|a.5___

Age (in years) s—x

Age (in years) [25-29|30-34|35-39|40-44,45-49|50-54|55-59
No. of Patients 24 44 35 10 37 48 10

(i)

Age (in years) (25-29|30-34|35-39|40-44|45-49|50-54|55-59
No. of Patients| 24 10 44 10 37 48 35

(if)

Age (in years) [25-29|30-34/35-39(40-44|45-49|50-54|55-59
No. of Patients| 24 35 44 10 37 48 10

(iii)

Age (in years) |25-29|30-34|35-39(40-44|45-49|50-54|55-59
No. of Patients| 24 35 44 12 37 48 10

(iv)

Age (in years) [25-29(30-34|35-39|40-44|45-49|50-54|55-59
No. of Patients 24 35 49 10 37 48 10

(v)




6. ldentify the class interval table for the given histogram.
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Weight (in kg) s———p

Weight (in kg) [32-37|38-43|44-49|50-55|56-61|62-67
No. of students| 26 14 17 27 11 9

(i)

Weight (in kg) [32-37|38-43|44-49|50-55|56-61|62-67

ii
(i No. of students 26 9 17 25 11 14

Weight (in kg) |32 -37|38-43|44-49|50-55|56-61|62-67

() No. of students| 26 14 20 25 11 9

(iv) Weight (in kg) |32 -37(38-43|44-49|50-55|56-61|62-67
iv

No. of students 26 17 14 25 11 9

Weight (in kg) (32-37(38-43|44-49|50-55|56-61|62-67

(v)

No. of students 26 14 17 25 11 9




7. Heights of 193 students (in cm) are given below. Identify the class interval table for the given histogram.

Y

No, of students
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145 - 150
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No. of students

26
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Height (in cm)

120 - 125

125-130

130-135

135-140

140 - 145

145 - 150

150 - 155

No. of students

26

34

8

28

22

33

42

Height (in cm)

120-125

125-130

130-135

135 -140

140 - 145

145 - 150

150 - 155

No. of students

26

8

37

28

22

33

42

Height (in cm)

120 - 125

125-130

130-135

135-140

140 - 145

145 - 150

150 - 155

No. of students

26

8

34

28

22

33

42

Height (in cm)

120 - 125

125-130

130-135

135 - 140

140 - 145

145 - 150

150 - 155

No. of students

26

8

34

31

22

33

42




8. Heights of 255 students (in cm) are given below. Identify the class interval table for the given histogram.

b

No, of students

125.5/132.5]139.5/146.5/153.5/160.5]

167.5/174.5/1815]

(i)

(ii)

(iii)

(iv)

(v)

Height (in cm) s——ap
Height (in cm) |126-132|133-139|140-146|147 - 153|154 -160|161-167|168-174|175-181
No. of students 32 33 46 47 29 9 41 18
Height (in cm) |126-132|133-139|140-146|147 -153|154-160|161-167|168 -174|175-181
No. of students 32 33 47 46 29 9 41 18
Height (in cm) (126 - 132|133 -139|140- 146|147 -153|154-160|161-167|168 -174|175-181
No. of students 32 18 47 46 29 9 41 33
Height (incm) |126-132|133-139|140-146|147 -153|154-160|161-167/168-174|175-181
No. of students 32 33 51 46 29 9 41 18
Height (in cm) |126-132|133-139|140-146|147 -153|154-160|161-167|168-174|175-181
No. of students 32 33 47 46 33 9 41 18




9. Heights of 202 plants (in cm) are given below.ldentify the class interval table for the given histogram.

No. of plants
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Height (in cm) s——ap
Height (incm) |58 -65|65-72(72-79|79-86|86-93|/93-100(100-107|107 - 114
No. of plants 20 22 32 45 1 16 14 48
Height (in cm) |58 -65|65-72|72-79|79-86(86-93|93-100(100-107|107 -114
No. of plants 20 22 30 45 5 16 14 48
Height (in cm) |58 -65|65-72|72-79|79-86|86-93(93-100|100-107|107 -114
No. of plants 20 48 32 45 5 16 14 22
Height (incm) |58 -65|65-72|72-79|79-86(86-93|93-100(100-107|107 -114
No. of plants 20 22 45 32 5 16 14 48
Height (incm) |58 -65|65-72(72-79|79-86|86-93/93-100(100-107|107 - 114
No. of plants 20 22 32 45 5 16 14 48




10. Heights of 204 plants (in cm) are given below. Identify the class interval table for the given histogram.
b

S
=
=

No. of plants
n
=

565 635705 | 775 845 915 | 985 |

Height (in cm) s——p

Height (incm) |57 -63(64-70|71-77|78-84|85-91|92-98
No. of plants 48 47 50 10 28 26

(i)

Height (incm) |57 -63|64-70|71-77|78-84|85-91|92-98
No. of plants 48 47 50 5 28 26

(if)

Height (in cm) |57 - 63|64 -70(71-77|78-84|85-91|92-98
No. of plants 48 50 47 5 28 26

(iii)

Height (in cm) |57 - 63|64 -70|71-77|78-84|85-91|92-98
No. of plants 48 47 46 5 28 26

(iv)

Height (incm)|57-63|64-70(71-77|78-84|85-91|92-98

v
V) No. of plants 48 26 50 5 28 47




11. Ages of 155 students (in years) are given below.ldentify the class interval table for the given histogram.
b

No, of students
U
[==]

H17 22 27 32 | 37 42 | 47

Age (in years) s—an

Age (in years) |17 -22|22-27|27-32|32-37|37-42|42-47
No. of students| 45 12 19 33 12 34

(i)

Age (in years) |17 -22(22-27|27-32|32-37|37-42|42-47

ii
(i) No. of students 45 19 12 33 12 34

Age (inyears) |17-22(22-27|27-32|32-37|37-42|42-47
No. of students| 45 34 19 33 12 12

(iii)

Age (in years) |17 -22|22-27|27-32|32-37|37-42|42-47

(V) No. of students 45 12 15 33 12 34

Age (in years) |17 -22|22-27|27-32|32-37|37-42|42-47
No. of students| 45 12 19 38 12 34

(v)




12. Ages of 123 students (in years) are given below.ldentify the class interval table for the given histogram.
b

No, of students
U
[==]

LK
1051165225 [ 2853451405 1465 |

Age (in years) s—an

Age (in years) |11-16|17-22|23-28|29-34|35-40(41-46
No. of students 39 5 11 16 22 30

(i)

Age (in years) |11-16|17-22|23-28|29-34|35-40|41-46

ii
(i No. of students 39 30 5 16 22 11

Age (inyears) [11-16(17-22|23-28|29-34|35-40|41-46
No. of students 39 11 10 16 22 30

(iii)

Age (in years) (11-16|17-22|23-28|29-34|35-40|41-46

(V) No. of students 39 11 5 16 22 30

Age (in years) (11-16|17-22|23-28|29-34|35-40|41-46
No. of students 39 11 5 12 22 30

(v)




13. Scores of 198 students are given below. Identify the class interval table for the given histogram.
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(v)
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SCOre  s——a—p
Score 80-87|87-94/94-101|101-108(108-115|115-122
No. of students| 45 49 32 32 5 33
Score 80-87(87-94(94-101/101-108|108-115|115-122
No. of students 45 33 32 34 5 49
Score 80-87|87-94/94-101|101-108|/108-115|115-122
No. of students 45 49 32 34 5 33
Score 80-87(87-94(94-101/101-108|108-115|115-122
No. of students 45 49 29 34 5 33
Score 80-87|87-94|94-101|/101-108(108-115|115-122
No. of students 45 32 49 34 5 33




14. Scores of 247 students are given below. Identify the class interval table for the given histogram.

Y

No, of students

84.5]94.5 104.5/114.5]124.5[134.5[144 5[154 5164 5

(i)

(ii)

(iii)

(iv)

(v)

SCore s——
Score 85-94|95-104/105-114|115-124|125-134|135-144|145-154|155-164
No. of students 42 23 39 30 22 31 18 42
Score 85-94(95-104|105-114|115-124|125-134|135-144|145-154|155- 164
No. of students 42 42 30 39 22 31 18 23
Score 85-94|95-104(105-114|115-124|125-134(135-144|145-154|155- 164
No. of students 42 42 39 30 22 31 18 23
Score 85-94(95-104|105-114(115-124|125-134|135-144|145-154|155-164
No. of students 42 42 35 30 22 31 18 23
Score 85-94|95-104/105-114|115-124|125-134|135-144|145-154|155-164
No. of students 42 42 39 30 18 31 18 23




15. Rainfall of 86 days (in mm) are given below. Identify the class interval table for the given histogram.
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i
Rainfall {in mm) e———n
(i Rainfall (in mm)|7-13(13-19(19-25|25-31|31-37
i
No. of days 22 24 12 10 20
(i) Rainfall (in mm)|7-13|13-19|19-25|25-31|31-37
i
No. of days 22 22 12 10 20
(i) Rainfall (in mm) |7 -13|13-19|19-25|25-31|31-37
iii
No. of days 22 12 22 10 20
(iv) Rainfall (in mm)|7-13|13-19|19-25|25-31|31-37
iv
No. of days 22 22 16 10 20
W) Rainfall (in mm)|7-13|13-19(19-25|25-31|31-37
Y
No. of days 22 20 12 10 22




16. Rainfall of 171 days (in mm) are given below.ldentify the class interval table for the given histogram.
b

No. of days

"65 | 125 185245305365 425 485545 |

Rainfall {in mm) s——a—p

Rainfall (in mm) | 7-12|13-18|19-24|25-30|31-36|37-42|43-48|49-54

i
W No. of days 16 11 14 25 31 45 10 22

Rainfall (in mm)|7-12|13-18(19-24|25-30|31-36|37-42|43-48|49-54
No. of days 16 11 11 25 31 45 10 22

(ii)

Rainfall (in mm) |7 -12|13-18|19-24|25-30|31-36|37-42|43-48|49-54
No. of days 16 22 11 25 31 45 10 11

(iii)

Rainfall (in mm)|7-12|13-18|19-24|25-30|31-36|37-42|43-48|49-54

iv
(iv) No. of days 16 11 11 25 34 45 10 22

Rainfall (in mm) | 7-12|13-18|19-24|25-30(31-36|37-42|43-48|49-54
No. of days 16 11 25 11 31 45 10 22

(v)




17. Temperatures of 137 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

33 141 149 57 es5 731 81 89

Temperature (in degree) s——2

Temperature (in degree) |33 -41(41-49(49-57|57-65|65-73|73-81|81-89
No. of days 5 8 29 29 23 23 20

(i)

Temperature (in degree) |33 -41|41-49|49-57|57-65|65-73|73-81|81-89

ii
(i No. of days 5 29 13 29 23 23 20

Temperature (in degree) |33 -41|41-49|49-57|57-65|65-73|73-81|81-89
No. of days 5 29 8 29 23 23 20

(iii)

Temperature (in degree) |33-41|41-49/49-57|57-65|65-73(73-81|81-89

iv
(iv) No. of days 5 29 8 25 23 23 20

Temperature (in degree) | 33-41(41-49(49-57|57-65|65-73|73-81|81-89
No. of days 5 20 8 29 23 23 29

(v)




18. Temperatures of 174 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

'25|.5_ _32|.5_ _37.5__ .4ﬁ|.5__ _5?1.5__ _ﬁul.s___

Temperature (in degreg) s——s2

Temperature (in degree) |26 -32(33-39(40-46|47-53|54-60
No. of days 26 28 55 36 34

(i)

Temperature (in degree) |26 - 32|33-39(40-46|47-53|54-60
No. of days 26 28 50 36 34

(if)

Temperature (in degree) |26 - 32(33-39(40-46|47 -53|54-60
No. of days 26 34 50 36 28

(iii)

Temperature (in degree) |26-32|33-39(40-46(47 -53|54-60
No. of days 26 31 50 36 34

(iv)

Temperature (in degree) |26 - 32(33-39(40-46|47 -53|54-60
No. of days 26 50 28 36 34

(v)




19. Weights of 176 students (in kg) are given below. Identify the class interval table for the given histogram.
b

No, of students
v
[==]

"48 | 55 | 62| 69 | 76 | 83 | 90 | 97 [1047]

Weight (in kg) s——

Weight (in kg) (48 -55(55-62|62-69(69-76|76-83|83-90/90-97|97-104

0 "No. of students| 28 44 34 5 13 16 8 28

Weight (in kg) |48 -55|55-62|62-69|69-76|76-83|83-90|90-97|97-104

() "No. of students| 28 28 36 5 13 16 8 44

Weight (in kg) (48-55(55-62|62-69(69-76|76-83|83-90(/90-97|97-104
No. of students 28 28 5 34 13 16 8 44

(iii)

Weight (in kg) |48 -55|55-62|62-69|69-76|76-83|83-90|90-97|97-104

iv
(iv) No. of students| 28 28 34 5 11 16 8 44

Weight (in kg) |48 -55|55-62(62-69|69-76|76-83|83-90/90-97(97-104
No. of students 28 28 34 5 13 16 8 44

(v)




20. Weights of 230 students (in kg) are given below.ldentify the class interval table for the given histogram.

Y

No, of students

4555451635725 ] 815905995 (1085

1175

(i)

(ii)

(iii)

(iv)

(v)

Weight (in kg)

— 5

Weight (in kg)

46 - 54

55-63

64 -72

73 -81

82 -90

91-99

100 - 108

109 - 117

No. of students

20

44

30

49

27

16

38

8

Weight (in kg)

46 - 54

55-63

64 -72

73-81

82-90

91-99

100 - 108

109 - 117

No. of students

20

30

49

25

16

38

44

Weight (in kg)

46 - 54

55-63

64 -72

73 -81

82 -90

91-99

100 - 108

109 - 117

No. of students

20

44

49

30

25

16

38

8

Weight (in kg)

46 - 54

55-63

64 -72

73 -81

82-90

91-99

100 - 108

109 - 117

No. of students

20

44

30

49

25

16

38

8

Weight (in kg)

46 - 54

55-63

64 -72

73 -81

82 -90

91 -99

100 - 108

109 - 117

No. of students

20

44

35

49

25

16

38

8




21. Daily wages of 208 labourers (in X) are given below.Identify the class interval table for the given histogram.

No. of labourers

(i)

(if)

(iii)

(iv)

(v)

Y
—100
|
|
----- 90
|
|
_____ lgg
..... 7
|
|
----- 60
|
----- 50
|
|
|
----- 30
|
|
----- 20
| :
| l.
----- 10 .
i -'x-';
288 | 297 | 306 | 3151 324 | 3331 342 351 | |
i3 AT 3 i |
Daily wage (in R5) s——a3p
Daily wage (in Rs) | 288 - 297 | 297 - 306 | 306 - 315|315 - 324|324 - 333|333 - 342|342 - 351
No. of labourers 17 49 29 40 7 32 34
Daily wage (in Rs) [288 - 297|297 - 306|306 - 315|315 - 324|324 - 333|333 - 342|342 - 351
No. of labourers 17 34 49 40 7 32 29
Daily wage (in Rs) | 288 - 297 | 297 - 306|306 - 315|315 - 324|324 - 333|333 -342|342 - 351
No. of labourers 17 29 49 35 7 32 34
Daily wage (in Rs) | 288 - 297|297 - 306 | 306 - 315|315 - 324|324 - 333|333 - 342|342 - 351
No. of labourers 17 29 46 40 7 32 34
Daily wage (in Rs) | 288 - 297|297 - 306 | 306 - 315|315 - 324|324 - 333|333 -342|342-351
No. of labourers 17 29 49 40 7 32 34




22. Daily wages of 72 labourers (in X) are given below. Identify the class interval table for the given histogram.

No. of labourers

(i)

(if)

(iii)

(iv)

Y
7.
—llt}[!
|
----- 90
|
|
----- 80
|
----- 70
|
----- 60
|
----- 50
|
—-40
|
|
----- 30
|
----- 20
|
----- 10
.
226.5{2355{244 5/253.5(262.5 {27151 |
i il |
Daily wage (in Rs)  s—a3
Daily wage (in Rs) (227 - 235|236 - 244|245 - 253 (254 - 262|263 - 271
No. of labourers 8 9 30 7 23
Daily wage (in Rs) | 227 - 235|236 - 244|245 - 253|254 - 262 (263 - 271
No. of labourers 8 25 9 7 23
Daily wage (in Rs) | 227 - 235|236 - 244|245 - 253|254 - 262|263 - 271
No. of labourers 8 23 25 7 9
Daily wage (in Rs) | 227 - 235|236 - 244|245 - 253|254 - 262|263 - 271
No. of labourers 8 9 25 7 23
Daily wage (in Rs) | 227 - 235|236 - 244|245 - 253|254 - 262|263 - 271
No. of labourers 8 4 25 7 23
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